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E

EXREHF | BHABAKREARR , MKRHERRClient1 MIRRClient2 R HSBANEFis, FIEKH
ERERELE AAS 100 , ERHFEIELMNEE, Mk , ©FEHABGP RRITEERM LB

& : A Command Lookup Tool(EREEM%E F) AU EHREBAEFEAN G SHFMRER.

5
AHEREE AU TERRE :

gﬂg

2011:13:13:13::x/64

2011:12:12:12::x/64

Lo0:2011:11:11:11::11
S0/0

RRClient1 RRClient2

Lo 0:2011:22:22:22::22 Lo0 2011:33:33:33::33
Lo 10: 1010:10:10::10 BGP AS 100 Lo 20 2020:20:20:20::20

[T k]
AERSHERAUTERE :
- BREEEA
- RRClient1
- RRClient2

3% ERA

host nane Router-A
!
ip cef
!
i pv6 uni cast-routing
!
i nterface LoopbackO
no i p address
i pv6 address 2011:11:11:11::11/128
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i pv6 ospf 10 area O
|
interface Serial 0/0

no i p address

i pv6 address 2011:12:12:12::1/64

i pv6 ospf 10 area O

cl ock rate 2000000
|
interface Serial0/1

no i p address

i pv6 address 2011:13:13:13::1/64

i pv6 ospf 10 area O

cl ock rate 2000000
|
router bgp 100

bgp router-id 1.1.1.1

no bgp default ipv4-unicast

bgp | og- nei ghbor - changes

nei ghbor 2011:22:22:22::22 renote-as 100

nei ghbor 2011: 22: 22: 22::22 updat e- source LoopbackO
nei ghbor 2011:33:33:33::33 rennte-as 100

nei ghbor 2011: 33: 33: 33:: 33 updat e- source LoopbackO

|

address-famly ipv6

nei ghbor 2011: 22:22:22::22 activate

nei ghbor 2011:22:22:22::22 route-reflector-client
!--- Configures the router RRClientl as route reflector
client! neighbor 2011:33:33:33::33 activate nei ghbor
2011:33:33:33::33 route-reflector-client !--- Configures
the router RRClient2 as route reflector client! exit-
address-famly ! ip forward-protocol nd ! ipv6 router
ospf 10 router-id 1.1.1.1 /--- Router ID of the route
reflector router A! | o0g-adjacency-changes ! end

RRClient1

hostnane RR-Cientl
|
ip cef
!
i pv6 uni cast-routing
|
i nterface LoopbackO
no i p address
i pv6 address 2011:22:22:22::22/128
i pv6 ospf 10 area O
|
i nterface Loopbackl0
no i p address
i pv6 address 1010:10: 10: 10:: 10/ 128
|
interface Serial 0/0
no i p address
i pv6 address 2011:12:12:12::2/64
i pv6 ospf 10 area O
cl ock rate 2000000
|
router bgp 100
bgp router-id 2.2.2.2
!-—- Router ID of the RRClientl no bgp default ipv4-
uni cast bgp | og- nei ghbor-changes nei ghbor
2011:11:121:1121::11 renpte-as 100 nei ghbor
2011:11:112:11::11 updat e-source LoopbackO ! address-




fam ly ipv6é nei ghbor 2011:11:11:11::11 activate network

1010: 10: 10: 10:: 10/ 128 exit-address-famly ! ! ip
forward-protocol nd ! ipv6 router ospf 10 router-id
2.2.2.2 | og-adj acency-changes ! | end

RRClient2

host nane RR-Cient2
|
ip cef
|
no i p domai n | ookup
i pv6 uni cast-routing
|
!
i nterface LoopbackO

no i p address

i pv6 address 2011: 33:33:33::33/128

i pv6 ospf 10 area O

|
i nterface Loopback20

no i p address

i pv6 address 2020: 20: 20: 20: : 20/ 128

|

interface Serial 0/0

no i p address

i pv6 address 2011:13:13:13::2/64

i pv6 ospf 10 area O

cl ock rate 2000000

|

router bgp 100

bgp router-id 3.3.3.3

!-—-- Router ID of the RRClient2 no bgp default ipv4-

uni cast bgp | og- nei ghbor-changes nei ghbor
2011:11:121:112::11 renpte-as 100 nei ghbor
2011:11:112:11::11 updat e-source LoopbackO ! address-
fam ly ipv6é nei ghbor 2011:11:11:11::11 activate network
2020: 20: 20: 20:: 20/ 128 exit-address-famly ! ip forward-
protocol nd ! ipv6 router ospf 10 router-id 3.3.3.3 |0g-
adj acency-changes ! end

B

ERAAHRE , BRELNEERE EEER,
BWHERFIES(EHEERETFER)OITXERE Eshowin . EAOITH R showds T & H#Y 754

LA TFshowdn & AR BRFERE :

- show ipv6 route bgp
- show bgp ipv6 unicast

ERREF I :

show ipv6 route bgp
£RRClient1#

RRCl i ent 1#sh ipvé route bgp
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I Pv6 Routing Table - 9 entries
Codes: C - Connected, L - Local, S - Static, R- RIP, B
- BGP

U - Per-user Static route, M- MPv6

1 - 1SISLL, 12-1SISL2, IA- ISISinterarea
IS - ISIS sunmary

O- OSPF intra, O - OSPF inter, CEl1l - OSPF ext
1, OE2 - OSPF ext 2

ON1 - OSPF NSSA ext 1, O\N2 - OSPF NSSA ext 2

D - EIGRP, EX - ElIGRP external
B 2020:20:20:20::20/128 [200/0]

via 2011:33:33:33::33

!--—- The 1iBGP route from RRClient2 is reflected
RRC i ent 1#ping 2011:33:33:33::33
Type escape sequence to abort.
Sending 5, 100-byte | CWP Echos to 2011: 33:33: 33:: 33,
timeout is 2 seconds:
Success rate is 100 percent (5/5), round-trip
m n/ avg/ max = 16/24/32 s
!--- Ping to the RRClient2 from RRClientl is successful

#ZERRClient2rh

RRCLI i ent 2#sh ipv6é route bgp
I Pv6 Routing Table - 9 entries
Codes: C - Connected, L - Local, S - Static, R- RIP, B
- BGP

U - Per-user Static route, M- MPv6

I1 - 1SISLL, I12- 1SISL2, IA- ISISinterarea,
IS - ISIS sunmary

O- OSPF intra, O - OSPF inter, CEl1l - OSPF ext
1, OE2 - OSPF ext 2

ON1 - OSPF NSSA ext 1, O\2 - OSPF NSSA ext 2

D - EIGRP, EX - ElI GRP external
B 1010:10:10:10::10/128 [200/0]

via 2011:22:22:22::22

!--- The 1iBGP route from RRClientl is reflected
RRCLI i ent 2#ping 1010:10:10:10::10

Type escape sequence to abort.

Sending 5, 100-byte | CWMP Echos to 1010:10: 10: 10:: 10,
timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip

m n/ avg/ max = 40/ 50/ 76 s

!--- Ping to the RRClientl from RRClient2 is successful

ERRHERAR

show bgp ipv6 unicast /Pvé6 prefix

Rout er A#sh bgp ipv6é unicast 1010:10:10:10::10/128
BGP routing table entry for 1010:10: 10: 10:: 10/ 128,
version 3
Paths: (1 available, best #1, table d obal -1Pv6-Tabl e)

Advertised to update- groups:

1

Local, (Received from a RR-client)
!-—- Indicates that the route was received from a route-
reflector client router RRClientl 2011:22:22:22::22
(rmetric 64) from 2011:22:22:22::22 (2.2.2.2) Oigin IGP,




metric 0, local pref 100, valid, internal, best

Rout er A##show bgp ipv6 unicast 2020:20:20:20::20/128
BGP routing table entry for 2020: 20: 20: 20: : 20/ 128
version 2
Paths: (1 avail able, best #1, table d obal -1Pv6-Tabl e)

Advertised to update-groups

1

Local, (Received from a RR-client)
!--- Indicates that the route was received from a route-
reflector client router RRClient2 2011:33:33:33::33
(metric 64) from 2011:33:33:33::33 (3.3.3.3) Oigin |IGP,
metric 0, local pref 100, valid, internal, best

HERREFIRT :

EBGPEHMR S ( BMEHEE 5 —EBGPHEHRE ) i
BREERA ) S IN2EEEEBIE

, BEERHRHSFNIREES (EXHPR

- BYHEIDIERFEEENTEBGPEM. REMNBGPEASESREEVZEHNBGPYH S
KR HERIDEAEBEEID, ERMHAROIF , £RRClient 23 H#YE& F2020:20:20::20/128H
B HEARR) R HEIRRClient1, Hit , lEEHE&EBRRClient2d B HEFID(BEHET

ID:3.3.3.3)fE BRI EID,

- Cluster-ID:iE R IFEERN A 1ZBGPE M, MREKRE Ecluster-id{E , BIRMRHIBGPE A
RREV % HESIDYE A Cluster-ID. £ RAEIF |, BEH2020:20:20:20::20/1288 BB B £ &
ID , AR EEEKHEFIDEEHEEID BHAEARR)M1.1.1)#& £ CCluster-1D,

show bgp ipv6 unicast ipv6-prefix

#ZRRClient1rh

show bgp ipv6é unicast 2020:20:20:20::20/128
BGP routing table entry for 2020: 20: 20: 20: : 20/ 128
version 3
Paths: (1 avail able, best #1, table d obal -1Pv6- Tabl e)
Not advertised to any peer
Loca
2011:33:33:33::33 (netric 128) from
2011:11:121:122::121 (1.1.1.1)
Oigin IGP, netric 0, |ocal pref 100, valid,
internal, best
Originator: 3.3.3.3, Cluster list: 1.1.1.1
!--- Originator ID 3.3.3.3 is the router id of the
RRClient2 from which the route is received! !---
Similarly, Cluster ID 1.1.1.1 is the router ID of the
router reflector Router A!

#ZRRClient2rh

show bgp ipv6é unicast 1010:10:10:10::10/128
BGP routing table entry for 1010: 10: 10: 10:: 10/ 128
version 3
Paths: (1 avail able, best #1, table d obal -1Pv6- Tabl e)
Not advertised to any peer
Loca
2011: 22:22:22::22 (netric 128) from
2011:11:122:11::121 (1.1.1.1)
Oigin IGP, netric 0, |ocal pref 100, valid,
internal, best
Originator: 2.2.2.2, Cluster list: 1.1.1.1
!--- Originator ID 2.2.2.2 1is the router ID of the




RRClientl from which the route is received! !---
Similarly, Cluster ID 1.1.1.1 is the router ID of the

router reflector Router A!
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